RigSEEH

T=E4  RIFB BEHK FE 1415
| (HANFHERE)

lhin

OREIER
IERS (FIERETE
B (i X BT/ 1 FE
5 - [RIESZERITIAILSNEOLECEELIEE
B {5 A 4 B 7468 > L 2

" DRBYDT-OOD—EETHY. BEBHWEHRT S
T T g X 4> WIEAL FDTIEALY,
AEXHEE 35%%HBZ A% TDES
iuff"{]{%EIE %ﬁﬂq{%éﬁﬁﬂ\gtj—é%g ZKI%'j:: r*EL\iﬁﬁ{%:E?)[/:E%(%EI%_{EEEE)J
” ThY, 4SBSRDBBME BLFREETILIE
RISIBEREE 5 LAY EHEEESHE)ZT ELTLVS,
BWFHEAETILIE . .
R BB R AE 438 8 AL




1/

2)




2/

2)




1/

3)

35%

40%

0.00




2/

3)

1.000

1.000

10

1.000

11

12

13




3/

3)

14

1.000

15

16

17

18

19

20

21




1/

2)

.000

.000

.000

.000

.000

.000

.000

.000

.000

.000

-000

.000

.000

-000




2/

2)

.000

.000

.000

.000

.000

.000

.000

.000

.000

.000

.000

.000

-000




1/

1

1.000

1.000

1.000

1.000

1.000




1/

1

1.000

1.000

1.000




1/

1

1.000

1.000

1.000




(

1/ 14

1.000
1.000
0.3ha
) 2.040 ha 1
0.3ha

+ 2.040 ha 2
2.030 ha 3
2.030 ha 4

1.000
103.0 5
18.000 6

1.000
1 H=0.3m 4.000 7
1 H=0.4m 2.000 8
1 H=0.5m 2.000 9




(

2/ 14

1.000
10.000 10
VU@ 200 15.000 11
1.000
24 m3 12
24.000 m3 13
1.000
1.000
143 m3 14
160 15
8.000 m3 16
106.000 m3 17




(

3/ 14

23.000 m3 18
318.100 19
1.000
8.0 20
6.5 21
0.300 m3 22
t=40 6.500 23
RC-40 6.500 24
1.000
VU(RR) , 200mm 96.7 25
VU(RR) , 150mm 124.3 26
VU(RR) , 100mm 31.8 27
VU(RR) , 75mm 65.3 28
SR
@ 200x 90° 1.000 29




(

4/ 14

SR
@ 75x 45° .000 30
SR
@ 200x 22° 1/2 -000 31
SR
@ 75% 11° 1/4 -000 32
T SR
@ 200x 200 .000 33
T SR
@ 200x 75 .000 34
T SR
@ 150x 75 .000 35
T SR
@ 100x 75 .000 36
T SR
@ 75x 75 .000 37
SR
@ 200x 150 .000 38
SR
@ 150x 100 .000 39
SR
@ 100x 75 .000 40
.000
50A -000 41
80A .000 42
VP, 50mm 9.0 43
VP, 75mm 5.0 44




(

5/ 14)

TS
@ 75% 50 6.000 45
TS
@ 50 90° 6.000 46
TS
@ 75 90° 5.000 47
BOX
11.000 48
18-8-40( B) W/C60% 0.1 m3 49
18-8-40( B) W/C60% 0.2 m3 50
1.5 51
RC-40 4.4 52
1.000
6 m3 53
7 54
5.000 m3 55
1.000 m3 56
14.100 57




(

6/ 14)

1.000
VP, 75mm 14.1 58
TS
@ 200x 150 1.000 59
TS
@ 150x 100 1.000 60
TS
@ 100x 75 1.000 61
1.000
7 m3 62
5 63
1.000 m3 64
3.000 m3 65
3.000 m3 66
10.500 67
1.000
K @ 200 1.000 68




(

7/ 14

K @ 200 .000 69
K 3 @200 L=5.0m .000 70
@ 200 -000 71
.037 ton 72
K @ 200 90° .000 73
K @200 .000 74
K @200 .000 75
VU(RR) , 200mm 5.4 76
SR
@ 200 .000 77
@ 200x @ 25 .000 78
.000 79
18-8-40(___ B) W/C60% .000 80
-000
.000
170 m3 81




(

8/ 14)

1.000
86 82
6 83
1.000
43.000 84
1.000
.RC-40 231 85
1.000
159.000 m3 86




(

9/ 14)

1.000

1.000
275 87
207.000 88
68.000 89
.RC-40 783 90

1.000
55-4 28.000 m3 91
28.000 m3 92

U

U150 2.400 93
1.000 94
71.000 95
1 H=0.3m 1.000 96
300.000 97




( 10/ 14

1.000

50A 1.000 98
1.000

14 m3 99

8.000 m3 100

18 101

.RC-40 10 102

@ 1100 6.000 103

3 2.000 104




( 11/ 15

1.000
1.000
200.000 105
200.000 106
240 m3 107
270.000 m3 108
270.000 m3 109
19 m3 110
7.000 m3 111
18-8-40( B) W/C60% 1.3 m3 112
2.3 113
18-8-40( B) W/C60% 12 m3 114
30 115
13 m3 116
13.000 m3 117
1.000 118




( 12/ 1D

1.000
167 119
167.000 120
0.100 ton 121

1.000
14 122




( 13/ 1D

1.000
1.000
6.78 ton 123
3.84 ton 124
28.87 ton 125




( 147 1D

1.000

1.000

1.000

126




1/

1

50A

1.000

35

¢ 1100*L.2000

3.000

36




( 1/ 46)

1
0.3ha
( + + ) ha 1.000 ha
( ) 0.3ha
( + + ).0.68ha,0.002, ( ) 1.000 ha 62
,15¢cm,
2
0.3ha
" + ha 1.000 ha
( )( 0.3ha )
+ + ,0.68ha,0.002,1.00, . . 1.000 ha 63
3
ha 1.000 ha
( )
. ,62 ,206 ,2 . . ,0 4 1.000 ha 66




(

2/ 46)

ha 1.000 hal
,5.0 m3/ha 1.000 ha 64
1.000
1.000 65
1.000
(__ 50cm ) 1.000 4




( 3/ 46)
1 H=0.3m 1.000
1.100 m3 1
SP
0.900 88
1 H=0.4m 1.000
1.600 m3 1
SP
1.300 88
(__ 50cm ) 0.100 4




( 4/ 46)
1 H=0.5m 1.000
2.300 m3 1
SP
1.900 88
(__ 50cm ) 0.200 4
10
1.000
SP
.80kg 200kg 1.000 98
1.000 6
11
VUop 200 1.000
VU, 200mm, ( ),4.0m ,0 1.000 47




(

5/ 46)

12
m3 1.000 m3
1.000 m3 43
13
m3 1.000 m3
SP
( ) ,8.0km 1.000 m3 90
1.000 m3 39
14
m3 1.000 m3
SP
1.000 m3 78




(

6/ 46)

15
1.000
SP
1.000 87
16
m3 1.000 m3
0.28m3( 0.20m3), 1.000 m3 46
SP
0.8m3( 0.6m3), ( ). ,15.5km 1.050 m3 80

17




( 7/ 46
m3 1.000 m3
SP (
50,000m3 1.100 m3 77
( )
() 1.000 m3 1
18
m3 1.000 m3
SP (
50,000m3 1.100 m3 77
( 2.5m )
,0.8 1.1ton, 1.000 m3 3
19
50.000
150mm 50m 2 1.000 7




( 8/ 46)

20
1.000
SP
.15¢cm i 1.000 93
21
1.000
SP
,15¢cm 2= . 1.000 92
22
m3 1.000 m3
SP
( 15cm ). ,6.5Kkm 1.000 m3 91
1.000 m3 40




( 9/ 46)
23
=40 1.000
SP (13)
3.0m__,40mm, (2.30 2.40t/m3 ). (2 1.000 103
0)
24
RC-40 1.000
SP
-,-.1 ,0mm, 100mm 1.000 102
25
VU(RR),200mm 1.000
VU,200mm.RR .5.0m .0 1.000 48




( 10/ 46)

26
VU(RR) , 150mm 1.000
VU,150mm,RR ,5.0m ,0 1.000 49
27
VU(RR) , 100mm 1.000
VU,100mm,RR ,5.0m ,0 1.000 50
28
VU(RR), 75mm 1.000
VU.75mm.RR_.5.0m .0 1.000 51




( 11/ 46)

29
SR
@ 200x 90° 1.000
90° () 200 ( 1.000 8
30
SR
@ 75x% 45° 1.000
45° () 75 ( 1.000 9
31
SR
© 200x 22° 1/2 1.000
22° 1/2 200 ( 1.000 10




( 12/ 46)

32
SR
@ 75x 11° 1/4 1.000
11° 1/4 ( ) 75 ( 1.000 11
33
SR
@ 200x 200 1.000
200mmx_200mm, , 1.000 12
34
SR
@ 200x 75 1.000
200mmx__75mm, , 1.000 13




( 13/ 46)

35
SR
@ 150x 75 1.000
150mmx__75mm, , 1.000 14
36
SR
@ 100x 75 1.000
100mmx__ 75mm, , 1.000 15
37
SR
@ 75x 75 1.000
75mmx__75mm, . 1.000 16




( 14/ 46)

38
SR

@ 200x 150 1.000

200 x 150 1.000 17
39
SR

¢ 150x 100 1.000

150 x 100 1.000 18
40
SR

@ 100x 75 1.000

100 x 75 1.000 19




( 15/ 46)

41
50A 1.000
2(50A) 1.000 59
50A,, 1.000 20
42
80A 1.000
2(50A) 1.000 59
80A, ., 1.000 21

43




( 16/ 46)

VP, 50mm 1.000
VP,50mm, ).4.0m ,0 1.000 52
44
VP, 75mm 1.000
VP,75mm, ),4.0m ,0 1.000 53
45
TS
@ 75% 50 1.000
TS
75% 50,, 1.000 22

46




( 17/ 46)

TS
@ 50 90° 1.000
TS
A 50,, 1.000 23
47
TS
@ 75 90° 1.000
TS
A 75,, 1.000 24
48
BOX
1.000
SP
.50kg 80kg 1.000 99
450% 450x 700 ( )., 1.000 25




( 18/ 46)

49
18-8-40( B) W/C60% m3 1.000 m3
SP
.—.18-8-40( B) W 1.000 m3 106
/C60%
50
18-8-40( B) W/C60% m3 1.000 m3
SP
,—,18-8-40( B) W 1.000 m3 106
/C60%
51
1.000
SP
1.000 95




( 19/ 46)

52
RC-40 1.000
SP
7.5cm 12.5cm RC-40 40 Omm 1.000 94
53
m3 1.000 m3
SP
1.000 m3 78
54
1.000
SP
1.000 87




( 20/ 46)

55
m3 1.000 m3
SP (
50,000m3 1.100 m3 77
( )
) 1.000 m3 1
56
m3 1.000 m3
Sp (
50,000m3 1.100 m3 77
( 2.5m )
,0.8 1.1ton, 1.000 m3 3
57

50.000




( 21/ 46)

150mm 50m 2 1.000 7
58
VP, 75mm 1.000
VP,75mm, ( ),4.0m ,0 1.000 53
59
TS
@ 200x 150 1.000
TS
200x 150, , 1.000 26
60
TS
@ 150x 100 1.000




( 22/ 46)

150x% 100 1.000 27
61
TS
@ 100x 75 1.000
TS
100x 75,, 1.000 28
62
m3 1.000 m3
SP
1.000 m3 78
63

1.000




( 23/ 46)

SP
1.000 87
64
m3 1.000 m3
0.28m3( 0.20m3), 1.000 m3 46
SP
0.8m3( 0.6m3), ( ). ,15.5km 1.050 m3 80
65
m3 1.000 m3
sp (
50,000m3 1.100 m3 77
( )
() 1.000 m3 1




( 24/ 46)

66
m3 1.000 m3
sp (
50,000m3 1.100 m3 77
( 2.5m )
,0.8 1.1ton, 1.000 m3 3
67
50.000
150mm 50m 2 1.000 7
68
K ¢ 200 1.000
(
,200x 5,3 , ( ), 1.000 54




( 25/ 46)

69

K @ 200 1.000
C )

,200x 5,3 1.000 55

70

K 3 ©200 L=5.0m 1.000

K 3 200 5.0m,, 1.000 29
71

@ 200 1.000

(oCIP )
200mm 1.000 57




( 26/ 46)

72
ton 1.000 ton
(H2) 1.000 ton 105
73
K @ 200 90° 1.000
(
,200% 5,3 1.000 56
0.057 ton 30
74
K @ 200 1.000
200 1.000 31




( 27/ 46)

75
K @200 1.000
K 200, 1.000 32
76
VU(RR) , 200mm 1.000
VU,200mm,RR ,5.0m ,0 1.000 48
77
SR
® 200 1.000
200 ( 1.000 33




( 28/ 46)

78
@ 200x @ 25 1.000
@ 25mm
200mm, , 1.000 34
79
1.000
25mm, 1.000 58
80
18-8-40( B) W/C60% 1.000
SP
s s .=.18-8-40( B) W 1.500 m3 107




( 29/ 46)

/C60%
2 1" ,—,18-8-40( B) W 0.200 m3 108
/C60%
SP
6.900 96
SP
2.600 95
81
m3 1.000 m3
SP
4.0m ,20,000m3 . . 1.000 m3 85
82
1.000
SP
, , . s 1.000 88




( 30/ 46)

83
1.000
SP
- 1.000 89
84
1.000
(__ 50cm ) 1.000 4
85
,RC-40 1.000
« )
,RC-40,10cm,2.5m 1.000 60




( 31/ 46)

86
m3 1.000 m3
SP
0.8m3( 0.6m3), ( ). ,5.5km 1.000 m3 81
SP (
50,000m3 1.000 m3 77
87
1.000
SP
-.- 1.000 101
88

1.000




( 32/ 46)

SP (13)
1.4m 3.0m ,40mm, (2.30 2.40t/m3 ), 1.000 104
(20)
89
1.000
SP (13)
3.0m__,40mm, (2.30 2.40t/m3 ). (2 1.000 103
0)
90
.RC-40 1.000
« )
.RC-40,5cm,2.5m 1.000 61




( 33/ 46)

91
55-4 m3 1.000 m3
SP
.5,000m3 - 1.000 m3 76
92
m3 1.000 m3
SP
0.8m3( 0.6m3), ). ,0.5km 1.000 m3 82
SP (
50,000m3 1.000 m3 77
93
U
U150 1.000
U . ,L=600,60kg/ 2T a2 1.000 45




( 34/ 46)

94
1.000
(_).1:3 0.010 m3 44
95
1.000
1.000 2
96
1 H=0.3m 1.000
1.100 m3 1
SP
0.900 88




( 35/ 46)

97
1.000
« )
1.000 69
98
50A 1.000
2(50A) 1.000 59
50A, . 1.000 35
99
m3 1.000 m3




( 36/ 46)

P
1.000 | n3 78
100
n3 1.000 m3
P (
50,000m3 1.100 | m3 77
( )
1.000 | n3 1
101
1.000
sp
1.000 87

102




( 37/ 46)

,RC-40 1.000
(G
,RC-40,10cm,2.5m . . . . 1.000 60
103
@ 1100 1.000
SP
,1100mm, . \ 1.000 100
@ 1100*L2000, , 0.500 36
104
3 1.000
SP
2 =s 2= .—.18-8-40( B) W/C60% 0.600 m3 109
SP
9.000 97
SP
, . 2 2" ,—,18-8-40( B) W 0.100 m3 106
/C60%




( 38/ 46)

sP
0.400 95
105
1.000
( )
, 1.000 67
( )
1.000 68
106
1.000
« )
1.000 69

107




( 39/ 46)

m3 1.000 m3
SP
4.0m ,20,000m3 1.000 m3 86
108
m3 1.000 m3
SP
0.8m3( 0.6m3), ). ,5.5km 1.000 m3 81
SP (
50,000m3 1.000 m3 77
109
m3 1.000 m3
SP (
50,000m3 1.000 m3 77
SP
0.8m3( 0.6m3), ), ,22.5km 1.000 m3 83




( 40/ 46)

1.000 m3 41
110
m3 1.000 m3
SP
im 2m 1.000 m3 79
111
m3 1.000 m3
SP (
50,000m3 1.100 m3 77
( )
() 1.000 m3 1

112




( 41/ 46)

18-8-40( B) W/C60% m3 1.000 m3
SP
,—,18-8-40( B) W 1.000 m3 106
/C60%
113
1.000
SP
1.000 95
114
18-8-40( B) W/C60% m3 1.000 m3
SP
.—.18-8-40( B) W 1.000 m3 107

/C60%




( 42/ 46)

115
1.000
SP
1.000 96
116
m3 1.000 m3
1.000 m3 43
117
m3 1.000 m3
SP
( ) ,8.0km 1.000 m3 90
1.000 m3 39




( 43/ 46)

118
1.000
700 ( ).H350,150 .1 32.000 70
90*90 16.000 3
119
1.000
7.1, 1.000 71
120
1.000
( )
1.000 72




( 44/ 46)

121
ton 1.000 ton
1.000 ton 42
SP
0.8m3( 0.6m3), ( ). ,15.5km 2.800 m3 80
122
1.000
1.000 5

123




( 45/ 46)

ton 1.000 ton
( )
,12m ,10km 1.000 ton 73
124
ton 1.000 ton
( )
,12m ,10km 1.000 ton 74
125
ton 1.000 ton
( )
.12m ,10km 1.000 ton 75

126




( 46/ 46)

1.000

1.000

38




( 1/ 64

m3

10.000 m3

(

)

:8.0

:0.0

4

:0.0
8

D
2)

:0.0

:0.0

3)
4)

0.200

0.850

10%

0.100

10.000 m3

m3

m3

10.000 m3

(

)

:8.0

4

:0.0
8

D
2)

:0.0

:0.0

:0.0

3)
4)

(

)

0.200

0.850




( 2/ 64

10% 0.100
10.000 m3
m3
3
( 2.5m m3 1.000
( 2.5m :8.0 :0.0
,0.8 1.1ton, :0.0
1 : :0.0
2) (ton) 0.8 1.1ton :0.0
3)
- [ ] < >
1.440
5.700
1.000
50.000 m3
m3
4
10.000
:8.0 :0.0
( _ 50cm ) ;0.0




(

1 :0.0
2) 50cm :0.0
10.800
0.060
0.170
10.000
1.000
:8.0 :0.0
:0.0 8
D : :0.0
2) :0.0
1.000
1.000
1.000
:8.0 :0.0
:0.0 8




(

4/ 64)

D
2)

:0.0

:0.0

3)
4)

1.000

1.000

1.000

150mm 50m 2

:8.0

:0.0

)
2)

:0.0

:0.0

:0.0

3
4)

150mm 50m 2

1.000

1.000

1.000

90°

(

) 200 (

:0.0

:8.0

:0.0




(

5/ 64)

D
2)

:0.0

:0.0

3)
4)

90°

(

) 200 ( )

1.000

1.000

1.000

45°

(

) 75 ( )..

:8.0

:0.0

)
2)

:0.0

:0.0

:0.0

3
4)

45°

(

) 75 ( )

1.000

1.000

10

1.000

22° 1/2

200 ( ).,

:0.0

:8.0

:0.0




(

6/ 64)

D
2)

:0.0

:0.0

3)
4)

22° 1/2

200 (

1.000

1.000

11

1.000

11° 1/4

() 75 (

:8.0

:0.0

)
2)

:0.0

:0.0

:0.0

3
4)

11° 1/4

() 75 (

1.000

1.000

12

1.000

200mmx_200mm, .

:0.0

:8.0

:0.0




( 7/ 6N
1 :0.0
2) :0.0
3)
4)
200mmx_200mm 1.000
1.000
13
1.000
:8.0 :0.0
200mmx__75mm, , :0.0 8
1 : :0.0
2) :0.0
3)
4)
200mmx__ 75mm 1.000
1.000
14
1.000
:8.0 :0.0
150mmx__ 75mm, , :0.0 8




( 8/ 64
1 :0.0
2) :0.0
3)
4)
150mmx  75mm 1.000
1.000
15
1.000
:8.0 :0.0
100mmx  75mm, , :0.0 8
1 : :0.0
2) :0.0
3)
4)
100mmx__75mm 1.000
1.000
16
1.000
:8.0 :0.0
75mmx__ 75mm, , :0.0 8




(

9/ 64)

D
2)

:0.0

:0.0

3)
4)

75mmx

75mm

1.000

1.000

17

1.000

200 x 150

:0.0

:8.0

:0.0

)
2)

:0.0

:0.0

3
4)

200 x 150

1.000

1.000

18

1.000

150 x 100

:0.0

:8.0

:0.0




( 10/ 64

D
2)

:0.0

:0.0

3)
4)

150

x 100

1.000

1.000

19

1.000

100

x 75

:8.0

:0.0

)
2)

:0.0

:0.0

:0.0

3
4)

100

x 75

1.000

1.000

20

1.000

50A. .

:0.0

:8.0

:0.0




( 11/ 64

D
2)

:0.0

:0.0

3)
4)

50A

1.000

1.000

21

1.000

80A, ,

:8.0

:0.0

)
2)

:0.0

:0.0

:0.0

3
4)

80A

1.000

1.000

22

TS

1.000

A 75% 50,

TS

:0.0

:8.0

:0.0




( 12/ 64

l) :0.0
2) :0.0
3)
4)
TS
75% 50 1.000
1.000
23
TS 1.000
TS :8.0 :0.0
50, , :0.0 8
1) M :0.0
2) :0.0
3)
4)
TS
50 1.000
1.000
24
TS 1.000
TS :8.0 :0.0
75., :0.0 8




( 13/ 64

D
2)

:0.0

:0.0

3)
4)

75

TS

1.000

1.000

25

1.000

450x 450%x 700 ( ).s

:0.0

:8.0

:0.0

)
2)

:0.0

:0.0

3
4)

450x 450%x 700 ( )

1.000

1.000

26

TS

1.000

200x 150, .,

TS

:0.0

:8.0

:0.0




( 14/ 64

D
2)

:0.0

:0.0

3)
4)

200x 150

TS

1.000

1.000

27

1.000

150x 100

:8.0

:0.0

)
2)

:0.0

:0.0

:0.0

3
4)

150x 100

1.000

1.000

28

TS

1.000

A

100x 75.,

TS

:0.0

:8.0

:0.0




( 15/ 64

D
2)

:0.0

:0.0

3)
4)

TS

A 100x 75

1.000

1.000

29

1.000

3 200

5.0m,,

:8.0

:0.0

)
2)

:0.0

:0.0

:0.0

3
4)

3 200

5.0m

1.000

1.000

30

ton

1.000

:0.0

:8.0

:0.0




( 16/ 64)

D
2)

:0.0

:0.0

3)
4)

1.000

ton

1.000

31

1.000

200

:8.0

:0.0

)
2)

:0.0

:0.0

:0.0

3
4)

200

1.000

1.000

32

1.000

200,

:0.0

:8.0

:0.0




( 17/ 64

D
2)

:0.0

:0.0

3)
4)

200

1.000

1.000

33

1.000

200 (

:8.0

:0.0

)
2)

:0.0

:0.0

:0.0

3
4)

200 (

1.000

1.000

34

@ 25mm

1.000

@ 25mm
200mm, ,

:0.0

:8.0

:0.0




( 18/ 64)

D
2)

:0.0

:0.0

3)
4)

@ 25mm
200mm

1.000

1.000

35

1.000

50A, ,

:0.0

:8.0

:0.0

)
2)

:0.0

:0.0

3
4)

50A

1.000

1.000

36

1.000

© 1100*1.2000.,

:0.0

:8.0

:0.0




( 19/ 64

D
2)

:0.0

:0.0

3)
4)

¢ 1100*L.2000

1.000

1.000

37

1.000

9.0cm

L=1.5,,

:8.0

:0.0

)
2)

:0.0

:0.0

:0.0

3
4)

9.0cm

L=1.5

1.000

1.000

38

1.000

:0.0

:8.0

:0.0




( 20/ 64)

l) :0.0
2) :0.0
3)
4)
1.000
1.000
39
m3 1.000
:8.0 :0.0
:0.0 8
1) M :0.0
2) :0.0
3)
1.000 m3
1.000
40
m3 1.000
:8.0 :0.0
:0.0 8




( 21/ 64

1 :0.0
2) :0.0
3)
1.000 m3
1.000
41
m3 1.000
:8.0 :0.0
:0.0 8
1 : :0.0
2) :0.0
3)
1.000 m3
1.000
42
ton 1.000
:8.0 :0.0
:0.0 8




( 22/ 64

1) :0.0
2) :0.0
3)
1.000 ton
1.000
43
m3 1.000 m3
:8.0 :0.0
:0.0 4 8
1) : :0.0
2) :0.0
3)
4)
5)
1.000 m3
1.000 m3
m3
44
m3 1.000 m3




( 23/ 64)

:8.0

:0.0

)
2)

1:3

:0.0

:0.0

:0.0

25kg

0.540

ton

0.910

m3

0.970

0.090

1.000 m3

m3

45

1.000 [

1

U . .L=600,60kg/

:8.0

:0.0

:0.0

:0.0

:0.0

D
2)

3)
4)

=600
60kg/

5)
8)

9
10)

11)




( 24/ 64

L=600mm 60kg/ 1.000
1.000 [ ]
[
46
m3 10.000 m3
:8.0 :0.0
0.28m3( 0.20m3), . . :0.0 4 8
: :0.0
:0.0
1)
2)
3) 0.28m3( 0.20m3)
4)
5)
6) 0 ( )
7 ( )
13.200 m3
0.250
0.920
0.200
12% 0.120
L 31 < >
0.300




( 25/ 64)

6.300
0.190
10.000 m3
m3
47
10.000
:8.0 :0.0
VU, 200mm, ( ),4.0m ,0 :0.0 8
1 W : :0.0
2) (mm) 200mm :0.0
3) (
4) 4.0m
5) 0
wU 200 4.0m 2.440
0.020
0.100
0.160
0.220

10.000




( 26/ 64)

48
10.000
:8.0 :0.0
wJ,200mm,RR ,5.0m ,0 :0.0 8
1 W : :0.0
2) (mm) 200mm :0.0
3) RR
4) 5.0m
5) 0
W

RR 200 5.0m 1.950

0.020

0.100

0.160

0.220

10.000
49
10.000
:8.0 :0.0

VU,150mm.RR.5.0m .0 :0.0 8




( 271/ 64

1 VU :0.0
2) (mm) 150mm :0.0
3) RR
4) 5.0m
5) 0
VU

RR 150 5.0m 1.950

0.020

0.090

0.130

0.190

10.000
50
10.000
:8.0 :0.0
VU,100mm,RR ,5.0m ,0 :0.0
1 VU : :0.0
2) (mm) 100mm :0.0
3) RR
4) 5.0m
5) 0
VU

RR 100 5.0m 1.950




( 28/ 64)

0.020

0.080

0.120

0.170

10.000
51
10.000
:8.0 :0.0
VU,75mm,RR  ,5.0m ,0 :0.0 8
1) VU : :0.0
2) (mm) 75mm :0.0
3) RR
4) 5.0m
5) 0
VU

RR 75 5.0m 1.950

0.020

0.080

0.120

0.170




( 29/ 64)

10.000
52
10.000
:8.0 :0.0
VP,50mm, ( ),4.0m .0 :0.0 8
1) VP : :0.0
2) (mm) 50mm :0.0
3)
4) 4.0m
5) 0
VP 50 4.0m 2.440
0.020
0.070
0.110
0.150
10.000

53




( 30/ 64)

10.000
:8.0 :0.0
VP,75mm, ( ),4.0m ,0 :0.0
D VP : :0.0
2) (mm) 75mm :0.0
3) (
4) 4.0m
5) 0
VP 75 4.0m 2.440
0.020
0.080
0.120
0.170
10.000
54
( ) 1.000
( ) :8.0 :0.0
,200x 5,3 ( :0.0
D : :0.0
2) ( xm) 200x 5 :0.0
3) 3

)




( 31/ 64

5) c7)
6) ( )
7 ( )
8) )
K 3 200 5.0m 1.000
0.1% 0.001
K 200 1.000
0.040
0.140
0.190
L ( 2014)] < >
0.100
4.300
0.090
1.000
55
( ) 1.000
C ) 8.0 0.0
,200x 5,3 , ( ). , , :0.0 4 8
1) : :0.0
2) ( xm 200x 5 :0.0




( 32/ 64)

3) 3
4)
5) 7))
6) ( )
7 ( )
8) )
.000
0.1% .001
.040
.140
.190
( 2014)] < >
.100
.300
.090
1.000
56
( ) 1.000
( ) :8.0 :0.0
,200x 5,3 ( :0.0
1) : :0.0
2) ( xm 200x 5 ;0.0




( 33/ 64)

3) 3
4)
5) C 7/
6) (
7 (
8)
-000
0.1% .001
.040
.140
.190
L ( 2014)] < >
-100
.300
-090
1.000
57
(DCIP_ ) 1.000
@cIp ) :8.0 :0.0
200mm :0.0 8
1) (mm) 200mm : :0.0

:0.0




( 34/ 64)

0.040

0.070

0.080

0.190

1.000
58
1.000
:8.0 :0.0

25mm, . :0.0
D (mm) 25mm : :0.0
2) :0.0
3 0 ( )
FC 7.5k 25 1.000

0.110

0.180

0.210

1.000




( 35/ 64)

59
10.000
:8.0 :0.0
2(50A) :0.0 4 8
1) 7)) : :0.0
2) 2(50A) :0.0
10.000

1.240

1.440

1.440

10.000
60
( ) 100.000
( ) :8.0 :0.0
,RC-40,10cm,2.5m . :0.0 4 8

1 : :0.0
2) RC-40 :0.0
3) 10cm
4) 2.5m
5)

6)




( 36/ 64)

7 (
8) ( )
RC-40 40 Omm 11.900 m3
0.320
0.620
L @ )] < >
2.500
15.000
0.430
[ C 31 < >
0.480
4.200
0.200
100.000
61
( ) 100.000
( ) :8.0 :0.0
,RC-40,5cm,2.5m :0.0 4 8
D : :0.0
2) RC-40 :0.0
3) 5cm
4) 2.5m




( 37/ 64

5)
6)
7
8) ( )
RC-40 40 Omm 6.000 m3
0.320
0.620
L @ )] < >
2.500
15.000
0.430
[ C 31 < >
0.480
4.200
0.200
100.000
62
( 0.3ha ha 1.000 ha
( 0.3ha :8.0 :0.0
( + + ),0.68ha,0.002, :0.0 4 8
( ),15cm, : :0.0

:0.0




( 38/ 64)

1 +

2) (A) 0.68ha

3) ) 0.002

4) )

5) H 15cm

6) ( )

2 )] < >
12.380
738.000
5.680
1.800
5.600
¢ 3] < >
10.590
254.000

4.300

0.1% 0.001

1.000 ha
ha
63
)( 0.3ha ) ha 1.000 ha
)( 0.3ha ) :8.0 :0.0
.0.68ha,0.002,1.00, :0.0 4 8




( 39/ 64)

:0.0
:0.0
1)
2) (A 0.68ha
3) ) 0.002
4) w 1.00
5)
6)
7
L 2] < >
7.850
468.000
3.600
1.600
5.400
[ ( 3] < >
25.460
611.000
10.350
0.1% 0.001
1.000 ha

ha

64




( 40/ 64)

ha 1.000 ha
:8.0 :0.0
,5.0 m3/ha :0.0 4 8
D : :0.0
2) 5.0 m3/ha :0.0
4.000
1.000 ha
ha
65
100.000
:8.0 :0.0
:0.0 4 8
D : :0.0
:0.0
0.200
0.500
L 3] < >
1.600
40.000
0.690

100.000




( 41/ 64

66
) ha 1.000 ha
) :8.0 :0.0
.62 ,206 :0.0 4 8
1 : :0.0
2) :0.0
3) (€)) 62.000
4) (b) 206.000
5) 2
6)
7
8) 0 4
1 < >
9.700
] < >
9.700
51.000
1.940
1.000 ha
ha
67
) 1.000
) :8.0 :0.0
0.0 4 8




( 42/ 64

1 :0.0
2) :0.0
[ ( 2014)] < >
1.390
88.000
1.000
887.000
68
( ) 1.000
( ) :8.0 :0.0
:0.0
D : :0.0
2) :0.0
[ ( 2014)] < >
1.370
78.000
1.000
842.000

69




( 43/ 64)

100.000
:8.0 :0.0
:0.0 4 8
1 : :0.0
:0.0
0.070
< >

0.290

0.800

0.060
14% 0.140

100.000
70
100.000
:8.0 :0.0

700 ( ).H350,150 ,1 :0.0 4 8
1 700 : :0.0
2) :0.0
3)
4) H350
5) 150
6) 1

7




( 44/ 64

100

.000

100

.000

13

.400

13

.400

ton

.700

.300

.300

.400

.048

(~2014)]

.700

100.000

71

1,000.000

7.1,

:8.0

4

:0.0
8

D
2)

:0.0

:0.0

:0.0

3
4)




( 45/ 64)

22*1524*6096

1,000.000

22*1524*6096

1,000.000

2.900

2.900

( 2014)]

3.310

345.000

2.900

1,000.000

72

100.000

:8.0

4

:0.0
8

D
2) 1

:0.0

:0.0

:0.0

104.000

0.480

100.000




( 46/ 64)

73

ton

1.000 ton

,12m

.10km \ . ( ).

:8.0

-4

:0.0
8

D
2)

(__/ton)

:0.0

:0.0

:0.0

3)
4)

12m
10km

5)
6)

8)
9)

10)

10km

12m

1.000

ton

1.000

ton

1.000 ton

ton

74

ton

1.000 ton

,12m

,10km , , ( ).

:8.0

4

:0.0
8

:0.0

:0.0

:0.0




( 47/ 64

D
2)

3)
4)

12m
10km

5)
6)

8)
9)

10)

10km

12m

1.000

ton

1.000

ton

1.000 ton

ton

75

ton

1.000 ton

,12m

,10km

:8.0

:0.0

4

:0.0
8

:0.0

:0.0

D
2)

(_/ton)

3)
4)

12m
10km

5)
6)

7
9




( 48/ 64)

10)
10km 12m 1.000 ton
1.000 ton
1.000 ton
ton
76
SP m3 1.000 m3
SP :8.0 :0.0
.5,000m3 :0.0 4 8
s :0.0
:0.0

1)
2)
3)
4)
5) 5,000m3
6) -
7 -
8) -

m3

77

SP mn3 1.000 m3




( 49/ 64)

SP ( :8.0 :0.0
50,000m3 :0.0 4 8
: :0.0
:0.0
1)
2) 50,000m3
m3
78
SP m3 1.000 m3
SP :8.0 :0.0
:0.0 4 8
s :0.0
:0.0
1)
2)
3)
4)
5)
m3
79
SP m3 1.000 m3
SP :8.0 :0.0
1m 2m :0.0 4 8
: :0.0

:0.0




( 50/ 64)

D
2)

1m 2m

3)
4)

5)

m3

80

SP

m3

1.000 m3

SP
0.8m3(

0.6m3),

(

:8.0

4

:0.0
8

,15.5km

:0.0

:0.0

:0.0

)
2)

0.8m3(

0.6m3)

3
4)DID

)

5)

15.5km

m3

81

SP

m3

1.000 m3

SP
, 0.8m3(

0.6m3),

(

:8.0

:0.0

4

:0.0
8

,5.5km

:0.0

:0.0




( 51/ 64)

D
2)

0.8m3(

0.6m3)

3)
4)DID

5)

5.5km

m3

82

SP

m3

1.000 m3

SP

0.8m3(

0.6m3),

(

:8.0

4

:0.0
8

,0.5km

:0.0

:0.0

:0.0

)
2)

0.8m3(

0.6m3)

3
4)DID

5)

0.5km

m3

83

SP

m3

1.000 m3

SP

0.8m3(

0.6m3),

(

:8.0

:0.0

4

:0.0
8

,22.5km

:0.0

:0.0




( 52/ 64)

D
2)

0.8m3(

3)
4)DID

5)

22 _.5km

m3

SP

m3

1.000 m3

SP
2.5m 4.0m

:8.0

:0.0

:0.0

:0.0

)
2)

2.5m 4._.0m

3
4)

m3

SP

m3

1.000 m3

SP
4.0m ,20,000m3

:8.0

:0.0

:0.0

:0.0

D
2)

4._0m
20,000m3




( 53/ 64)

3
4)

m3

86

SP

m3

1.000 m3

SP

4.0m

.20,000m3

:8.0

4

:0.0

8

:0.0

:0.0

:0.0

)
2)

4._0m
20,000m3

3)
4)

m3

87

SP

1.000

SP

:8.0

:0.0

:0.0

:0.0

:0.0

D




( 54/ 64)

88

SP

1.000

SP

:8.0

:0.0

:0.0

:0.0

:0.0

D
2)

3)
4)

5)

89

SP

1.000

SP

:8.0

:0.0

:0.0

:0.0

:0.0

D
2)

3)
4)

5)




( 55/ 64)

90

SP

m3

1.000 m3

SP

,8.0km

:8.0

4

:0.0

8

:0.0

:0.0

:0.0

D
2)

3)DID
4)

8.0km

m3

91

SP

m3

1.000 m3

SP

15cm

).

,6.5km

:8.0

4

:0.0

8

:0.0

:0.0

:0.0

)
2)

(

15cm

)

3)DID
4)

6.5km

m3

92

SP

1.000




( 56/ 64)

SP

.15cm

:8.0

:0.0

:0.0

:0.0

:0.0

D
2)

3)
4)

15cm

5)Co+As( )
6)

As

7

93

SP

1.000

SP
,15¢cm

:8.0

:0.0

:0.0

:0.0

:0.0

)
2)

15cm

3)

94

SP

1.000




( 57/ 64)

SP :8.0 :0.0
7.5cm 12.5cm RC-4Q :0.0 8
40 Omm : :0.0
:0.0
1 7.5cm 12.5cm
2)
3)
4) RC-40 40 Omm
95
SP 1.000
SP :8.0 :0.0
:0.0 8
: :0.0
:0.0
D
2)
96
SP 1.000
SP :8.0 :0.0
:0.0
: :0.0
:0.0
1

2)




( 58/ 64)

97

SP

1.000

SP

:8.0

:0.0

:0.0

:0.0

:0.0

)
2)

98

SP

1.000

SP

.80kg

200kg

:8.0

:0.0

:0.0

:0.0

:0.0

D
2)

(ka/ )

80kg

200kg

3)
4)

99




( 59/ 64)

SP

1.000

SP

,50kg 80kg

:8.0

:0.0

:0.0

:0.0

:0.0

D
2)

(kg/ )

50kg

80kg

3)
2)

100

SP

1.000

SP

,1100mm,

:8.0

:0.0

:0.0

:0.0

:0.0

iy
2)

1100mm

3)
4)

5)

101

SP

1.000




( 60/ 64)

SP

:8.0

:0.0

:0.0

:0.0

:0.0

D
2)

3)
4)

102

SP

1.000

SP

,0mm, 100mm

:8.0

:0.0

:0.0

:0.0

:0.0

)
2)

3
4)

5)
6)

)
8) 1

Omm

9
11)

100mm

RC-40 40 Omm

m3




( 61/ 64)

103

SP

1.000

SP
3.0m ,40mm, (2.30

:8.0

(20)

:0.0

:0.0

:0.0

)
)1

3.0m
40mm

3)
4)

(2.30 2.40t/m3

5)
6)

(20)

(13)

ton

104

SP

1.000

SP
1.4m 3.0m ,40mm,

:8.0

. (20)

:0.0

:0.0

:0.0

)
2)1

1.4m 3.0m
40mm

3)
4)

(2.30  2.40t/m3

5)
6)

(20)

(13)

ton




( 62/ 64)

105

ton

1.000

(H2)

:8.0

:0.0

D
2)

(H2)

:0.0

:0.0

:0.0

3)

(H2)

1.000

ton

1.000

106

SP

m3

1.000 m3

SP

.—.18-8-4

:8.0

:0.0

4

:0.0
8

0(

B) W/C60%

:0.0

:0.0

D
2)

3)
4)

5)
6)




( 63/ 64)

)
8)

10)

18-8-40(

B) W/C60%

m3

107

SP

m3

1.000 m3

SP

.-.18-8-4

:8.0

4

:0.0

8

0o(

B) W/C60%

:0.0

:0.0

:0.0

iy
2)

3)
4)

5)
6)

)
8)

10)

18-8-40(

B) W/C60%

m3

108

m3

1.000 m3

SP

.—.18-8-4

:8.0

:0.0

4

:0.0

8




( 64/ 64)

0(  B) W/C60%

:0.0

:0.0

)
2)

3
4)

5)
6)

7
8)

10)

18-8-40(

B) W/C60%

m3

109

SP

m3

1.000 m3

SP

.=, 18-8-40(

:8.0

4

:0.0

8

B) W/C60%

:0.0

:0.0

:0.0

)
2)

3
4)

5)
6)

7
8)

10)

18-8-40(

B) W/C60%

mn3




2)

m3 1.000 m3
SP
2.5m 4.0m 1.000 m3 84
SP (
50,000m3 1.100 m3 77
1.000 m3
m3
1.000
(
) 0.200 m3 2
0.400 65
1.000

1.000




2/

2)

90*90

9.0cm

L=1.5,,

0.666

37

0.700

1.000




1/

1

P52001 m3 1,800 39
P52003 m3 1,800 40
P96004 ton 42,800 42
P96005 m3 1,800 41




RIREH—ER

IE4 R7MH #REER FiE 1—4TEGEVFRRER)

2233 ki Bifi] B fiff wE
AW m3 2,080 |IEHIHAE 14.1km
oyt a7 — b (JEAT) m3 1,800 |iEEHFEEE 5.9km
VAR T AT 7V ik m3 1,800 |iEEHFEEE 5.9km
oyt BESTATF v ton 42,800 | EHREEAE 15.2km
YAk ¢ FeAsy (B ) m3 1,800 [EEHEFRAE 19.4km
MLLUT I, BR2 B EEL CiF EL Q02450
?_é?r%ﬁ(ﬂ&)&m%ZS%{E&LT%UE%@T‘
B T EEy A58 SRR B Al 1 =X 146,000
LB GER oy (FE 5)) AR SRR A IE F2y 0




SO EM R E K E

FHiF X 1-4 T [X



(1) BETREVIRESHERER

FiFtRX 1-4TX

% FR R 1% k-, By #% 8
BREEEY - m3 -
B E&Efif - 0y - m -
BHHEEY 23.99 m3 23.99
L& - 0 23.99  m3 23.99




FiFtX 1-4TX No. 1
|EHIUI)—FEERRKREE
TN B |HhERS1|thExS2|Fons| BAD | B )| KipEm| D |wwseeos| ERM)|(KiEmY)| HE
hri hi2  [m=emnz|  h2  [H=hi+h2| B n A L | v=A%L
BERE47 025 025| 025| 029| 054 0.14 000| 008| 4430| 354
ERE48 022 o022| o022 029 o051 o012 000| 006| 57.40| 344
HEBE49 009 009| 009| 029 038 010 000| 004| 80.80| 323
BEBE50 009 009| 009| 029 038 009 000| 003| 6290| 1.89
RS 014 o014| 014| 029 043 010 000| 004| 8570| 343
; BERE52 029 029| 029 o029 o058 o011 000| 006| 3740| 224
I HEBES3 017 o017| 017| 029| o046 0.14 000| 006| 61.80| 3.71
BERE54 022 o022| o022 029 o051 015 000| 008| 3130| 250
&5t 23.99




BT

FIFFhX 1-4TX




TIVR =YD 1ha B 7-0iEisEEH (F HH00))
PR R X 1-4 T X

(1) FEEVRLITETOR HIEE OERRE (TD11)

TD11 = 2.7 XA+105.4 XB+7.3XD+0.8 XF-1.0

= 15.2 A FHEPER X i FE(ha)
0.68
B : B AR
0.002
D : FEEWICIDERRERL
0.3
FEE MR
YA 0.0
Ui} 0.3
AN 0.9
F o FHIEIEHEWE(Cm)
15
(2) FEBVELTIETOXR LRELOERERER (TD12) ELTRELUE(Cm)
15

TD12 = 5.3 XA+0.3 XF+5.1

= 13.2

(3) F Ik ELRFRE (TD13)
TD13 = -3.7XA+11.0

= 85

7277, TD11-TD12-TD13DAl 2B LA F DA ITF N F N2 i &5,

(4) TR —FD1haX7=0EERRER (TD)
TD = TD114+TD124+TD13
= 36.9 (If#, ha)

369 <+ 6.5 X 2.18

= 12.38 (H_ ha)




7 VR — D 1ha X4 7= EGREFE] GLARE A%, BERESENT)
PR R X 1-4 T X

A o FHEPEY X E HEfEha)
0.68

B 1 SERHE AR
0.002

(1) YK EELRFE(TDa)

1128.0 X AXB+2.7 X C+7.9
HEACIR =1 X A1+2 X A2+3 X A3)/ (A1+A2+A3)

Al : #HEME  (ha)
C: HEARI A2 FEHEF (ha)
1.0 A3 : mHEFE  (ha)
E: B+ B X5
1.0 oAz 0 1 X5y
D2: FEM|Z L5 IE A R 0 i -WE 1
0.7 1 REE - 1

TDa =

= 121
100%

i = 4 R
X4y | D2
LIy 0.0
Wiwm 0.7
£\ | 2.1

(2)  BEREZESLOEALRFH(TDD)

TDb = -1.9XA+1.3 XE+2.9

= 29

(3)  FARs& oD EHARRE (TDe)

TDc = -3.6 XA+0.08 XE+10.8
= 84

7272L. TDa*TDb* TDcOEN 2B LA F OB AT T NZF N2 B &5,

(4)  TAR—HD1haX4 7= iEHERERE (TD)

TD = TDa+TDb+TDc
= 23.4 (Fff,ha)

234 <+ 6.5 X 2.18

= 7.85 (H ha)




77RO 1ha 7D IEEARFE (3R L)
FFIRF R X 1-4 T X

(1) FEWMVRLLIETOR BIIE OEERRFRH (TB11)

TB11 = -6.0 XA+6.2 XD+11.8

= 96 A FHEEY X E EfEha)
0.68
B : “F¥MiE AR
0.002
D : [EEMIZIDIERRER]
0.3
FEEM R
ey 0.0
@ 0.3
£\ 0.9
F : #£HIFZEVE(Cm)
15
F+HELE(Cm)
(2) IIEBVRELLETOE T RELOEREER (TB12) 15

TB12 = 4.4 XA+0.02XF+9.4

= 6.7

(3)  FHEAOEERRFR (TB13)

TB13 = -11.3XA+21.1
= 134

727201, TB11-TB12-TBI3DAEAIRFH LA F OGAIFE N E NIRRT 5,

(4) Ry 7ERYD1ha 4 7=0iEELR (TB)
TB = TB11+TB12+TB13
= 29.7 (¥, ha)
29.7 <+ 6.9 X 2.46

= 10.59 (H “ha)




/X778 O Tha Y 720 ERARFH] (ARG R, BERESENT)
FUHX 1-4 T X

(1) AAFGIRE BRI [ (TBa)

TBa = 1436.9 X AXB+7.6 XD3+14.8

= 9236 A ¢ FHEEY X E EFE(a)
0.68
B : SEHJHIEARD
(2) BERESESTOEARERI(TBD) 0.002
D3 : [EEWIC LD IERLIFRE]
TBb = -26.8 X A+39.8 0.9
= 216 PR =R
By 0.0
¥ 0.9
(3) A oo JEHLAFE (TBe) ZaAn 2.7

TBc = -62.1 XA+68.4

= 26.2

72721 TBa*TBb* TBcODEMFHI LA T OB T E N E IR H ET D,

(4) w7 D1ha =0 iEERRF ] (TD)
TB = TBa+TBb+TBc

= 714 (B[, ha)
71.4 <+ 6.9 X 2.46

= 2546 (H _ ha)




BihX 1-4TX
BT zFt’JIZ E*;&qui’] IREERGETL)
FE] —F0 %:H&L\ Bk R X
Bl @ B |@m i ﬁ J‘ra HiIE ﬁ:tﬁfra FIR | 1@ i
1 2,260 2,260 2,260 43 97,180 52 117,520
2 16,520 16,520 16,520 69 | 1,139,880 239 | 3,948,280
3 1,600 1,600 1,600 21 33,600 77 123,200
1l 20,380 20,380 20,380 1,270,660 4,189,000
XELR-mE/RIR
FISEFEEMTICZRAHETFHXRE @A
HETHREmEh)=NFZHXRDEEEE - R IBX L XER
= t 2.04 = 3 = 068 ha
H f2 2.04 = 3 = 068 ha
HEHEEE BRI EL-RIE
EH0E 1,270,660 - 20,380 = 624 m
FIE 4,189,000 = 20,380 = 2055 m
HESEEE — EfmiE = 203 ha




B2 M AL EH R E (1/10L0F)

[l X FRFE

% T EE N
FIGHX 1-4 T X
X i} & ST AU ES2q
x5 A) m2 )] AXT
. 2, 260 0. 000 0. 000 1
5 16, 520 /500 0. 002 33. 040 7
3 1,600 1/333 0. 003 4.800 !
P 20, 380 ag 9
Y 2, 264 1/500 0. 002




e A&
BPOEE I Afd e A E (1/10K0)  (11EH)
FERTH X 1-4 T [X
FEEE | REiEE | BIES | B | KRB | BHXIESmE| e and -
1 2 3=1—2 4 5 6=3/4 7=5X6
1 1.91 1.91 0. 00 1.0 2,260 0. 000 0. 00
N 2,260
SEYHTE A 0. 000
B ARl G A E (1/10R7)  (21F5)
ARG HIX. 14 T [X
FHE S | REAEE | R | EEE | AKCEEEBE [BFXIZGmAE| EA [

1 2 3=1—2 4 5 6=3/4 7=5X6

2 1.99 1.53 0. 46 203.0 16, 520 0. 002 33. 04

&5 16, 520 33. 04

R AR 0. 002 1/500
BPOEY I Al e A E (1/10K0)  (31%3)
FERTHI X 1-4 T [X
FGEE | REiEE | BIES | B | KRB | SIS mE| e and -
1 2 3=1—2 4 5 6=3/4 7=5X6
3 1.49 1.41 0.08 30.0 1, 600 0.003 4. 80
&t 1, 600 4. 80
S 15 i1 T 5 i 0. 003 1/333




B T AL EH R E (1/10L4F)

[l X FRFE

FLARHE N
FIGHX 1-4 T X
X i} & ST AU ES2q
x5 A) m2 )] AXT
. 2, 260 0. 000 0. 000 1
5 16, 520 /500 0. 002 33. 040 7
3 1,600 1/333 0. 003 4.800 !
P 20, 380 ag 9
Y 2, 264 1/500 0. 002




AR
BRI HIIE ARG A E (1/10R0)  (LEH)
FEIR X 1-4 T [X
FGET | REiES | BRIES | Eee | KPR SIS mE| e AR -2
1 2 3=1—2 4 5 6=3/4 7=5X6
1 1.91 1.91 0. 00 1.0 2, 260 0. 000 0. 00
Nt 2,260
SEHIH ) 0. 000
BB AR R R 2 (1/10R0)  (21F3)
X 1-4 T.[X
FHE T | R E | AR | EEZE | AKCFEREE XI5 P AR -

1 2 3=1—2 4 5 6=3/4 7=5X6

2 1.99 .53 0. 46 203. 0 16, 520 0. 002 33. 04

it 16, 520 33. 04

ST A 0. 002 1/500

BRI HIIE ARG A E (1/10R0)  (3I1EH)
FEIR X 1-4 T [X
FGET | REiES | BRIES | e | KPR (SIS mE| e AR -2
1 2 3=1—2 4 5 6=3/4 7=5X6
3 1.49 1.41 0.08 30.0 1, 600 0.003 4. 80
&t 1, 600 4. 80
S 15 i1 T 5 i 0. 003 1/333




B THEMRE




FARHIIX 1-4 T X 1.9 # T R — R
FIRFHIX 1-4 T X
T it i H B ¥ & <Xva i 22
T 7K T A 2.04 | ha
Fe R 2. 04 n
TV R — Y O TEHRREH] 36.9 | hr/ha
Ry 7R T OERIN 29.7 "
FARIERL, MEREEEST 2.04 | ha
TV R — Y O E LR 23.4 | hr/ha
Ry 7 IR T OIERIE ] 71.4 "
REIE T M KHB1-0. 1 41.2 " B yEmA B
KHB1-0. 2 48.5 " 75. Tm2
KHB1-0. 3 0.0 " O hEm L
KHB2-0. 4 0.0 " 0. 0m2
KHB2-0. 5 0.0 " AR
KHB2-0. 6 0.0 " 26. 9m2
KHB2-0. 7 0.0 " /N
KHB2-0. 8 0.0 " 18. 3m2
KHB2-0. 9 0.0 "
KHB2-1. 0 0.0 "
KHB2-1. 1 0.0 "
KHB2-1. 2 0.0 "
KHB2-1. 3 0.0 "
KHB2-1. 4 0.0 "
KHB2-1. 5 0.0 "
KHB2-1. 6 0.0 "
KHB2-1. 7 0.0 "
BT BT 1 (B=3.0m) 1=0. 3 4| BT
H=0. 4 2 N
H=0. 5 2 "
H=0. 6 0 N
H=0. 7 0 "
H=0. 8 0 N
H=0. 9 0 "
H=1.0 0 "
Heko T Hek g Bk HE 10 | #AF
Yk VU ¢ 200 15.0 m
VP ¢ 200 0.0 N




{ul

08¢ 0¢ fE
JENY JENG JENG 08€ 02 [

HE

\[/

=
TP | =S|

009 ‘T €
0181 L-¢
ory ‘1 9-¢
011 ‘G §-¢
0€e I-¥V—¢
011 C 4
0SS ‘C €—
4
!

099 ‘I
016 ‘1
092 ‘2 I
W 24~ | W | 0¥ L (W 24 | W | B L W v | W | B L W v | W | B

T
=il
=
Il

iy
=
o
X
iy
=
o
X
T
=
e
N
e

(W By L1 %xl (W H U] - ZEl Gy Hy L1 - ZE G Hy L1 e

¥ £ ¥ & H

K LV-1 XHEs




S 1-4TIX BERE LEEFEE B :m
R
B X B-1H [ B-1#0 | B-1%0 [ B-1/R [ B-27 [ B2/ | B2/ [ B2/ [ B2/ [ B2/
E.‘} % KHB1-0|KHB1-0.1| KHB1-0.2| KHB1-0.3| KHB2-0.4| KHB2-0.5| KHB2-0.6| KHB2-0.7| KHB2-0.8| KHB2-0.9
0.0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9
1 41.2 48.5
2-1
2-2
2-3
2-4
2-4-1
2-5
2-6
2-7
3
/B 0.0 41.2 48.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0
aet 0.0 41.2 48.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0
B B B 0.00 | 37.90 | 37.83 0.00 0.00 0.00 0.00 0.00 0.00 0.00
it 75.73
GRS
g 0.00
AKEm AL 0.00 [ 12.36| 14.55 0.00 0.00 0.00 0.00 0.00 0.00 0.00
g 26.91
SR 0.00 | 11.54 6.79 0.00 0.00 0.00 0.00 0.00 0.00 0.00
& 18.33




X 1-4 TIX

ESATIL Y e

X B i T F BEWE A | BEREAER (mempuinrmfs| BEREEDRE | R A
m’ m m’/m m’ m’

| v Qoo | wi| o] m| e
2-1 1,510 1,510
2-2 1, 660 1, 660
2-3 2, 550 2, 550
2-4 2,110 2,110
2-4-1 330 330
2-5 5,110 5,110
2-6 1, 440 1, 440
2-17 1,810 1,810
3 1, 600 1, 600
/NEF 20, 380 89. 7 67 20, 313
&3 20, 380 89. 7 67 20, 313




IR X 1-4 T X EfTREEE]
SR 1A (B=3. Om) EET T 00 —
X &5

H=0. 3| H=0. 4| H=0.5| H=0.6 [ H=0. 7| H=0. 8 | H=0. 9 | H=1. 0 [ H=0. 3 | H=0. 4 | H=0. 5 [ H=0. 6 | H=0. 7| H=0. 8 | H=0. 9 [ H=1. 0




£ £ 081 01 £

ST T 3

ST T LG

ST T 9-%

0°¢ G 5
1-7-C

ST T V-G

ST T £-C

ST T t¢

ST T 1-C

ST T 1

002 ¢ dA 002 ? 1A FNEL: 002 @ dA 002 ? NA VAR 002 ? dA 002 ? 1A EL
R R X Eiakit
1] A R i ERE]

EREFEE TN

MTLv-1 X




B THEFHE

FIFHX 1-4TX



FFIRF X 1-4 T X 4.8 B & B ®
T il fii E Hi # i HLAT 1
+T 1) m3
B 173.9 m3
RSy 86. 3 m2
EIRR LR 5.5 m2
U7 43.4 m2
Ashifidt m2
AT t=10cm m2
ORI & %E t=10cm 230. 8 m2




FiFX 1-4 TR

TRGER EREREIR
. B=4.0m B=3.0m B=4.0m
BRERE (B FISHEE) (AsEiZE) (AsEiZE) =
18 X HRE RS 76.9 76.9
=1 76.9 76.9




Bt T

&y
i

FIFHX 1-4TX
£

73 ISR ERER & & B

HEHI 0.0 00|
173.9 1739 | m®

AL 86.3 863 | m’
PER Ly 5.5 55| m’
AstizE 0.0 0.0 m’
AT 0.0 00 w?
FISE 230.8 2308 | m’
735 434 434 m?




EBELI HEHERX O

SR 1-4 X 1)
iH B8 T + T
iz 4 ER -EIEREE HiR ] Rt g bk B Bk R Ashilide AT 972
L wicger| 2R B |wecsm| OB o] BB o] OB |weowe| OB [weox| OB Wk % B
(m) (m”/m) (m")] (m*/m) (m*)] (m*/m) (m*)] (m*/m) (m*)] (m*/m) m®)| (m*/m) (m*) (m*/m) (m*)
153 HE
76.9
NO.0 24.7 2.30 56.7) 1.30 32.0 3.00 74.0| 0.60 14.8
NO.0+49.3 49.3 25.0 2.40 60.0f 1.30 32.5 3.00 75.0] 0.60 15.0
NO.1 0.7 13.8 2.10 29.0] 0.80 11.0] 0.20 2.8 3.00 41.4] 0.50 6.9
NO.1+26.9 26.9 13.5 2.10 28.2] 0.80 10.8] 0.20 2.7 3.00 40.4] 0.50 6.7
NS 76.9 173.9 86.3 5.5 230.8 43.4




B TR

FIFHX 1-4TX




+T ¥ = 3§ L

ol |4 1 = ¥
[T-1-25 3 KK ]
PR LY () CEBIRERER R E L D) 142.70 m’
KRR CES MR R EL ) 159.12 m”
b Bt 1 WEL  [EB CPEBEEERELY) 9.23 m’
b B2 WEL  [EB CPEBEEERELY) 5.96 m”
LS| 2t e S B3 I V2N CPEHRER R E L ) 17.40 m’
HLEE2 WA RS CEH R R EL V) 88.41 m’
RS wAE (R E-7 vNANR CEREEREREE L) 19.82 m’
LA WAt [EB- b AN CESEREEEE L) 3.40 m’
¥ F <7 —7 [B=150mm CEBIRERER R E L D) 318.10 m
W - EHAT Hn =& iF &

ol |4 1 = ¥
[T-1-25 3 KK ]
2 b BT e GEMIX L 0) 7.73 M
RS (R L ) 6.47 m’
paaiiie 6. 47 X 0. 04 0.26 m’
AslgE t=dcm GEMIR L) 6.47 m”
LJE 4 (RC-40) |t=10cm GEMIR L D) 6.47 m’




28761 T7 88 1L
78761 | 788 | X Th-1
) W | e
=N
0198 12719 [ - -
0L°9¢ 1118 07 LT |
] IR IR IR
ST =N T T3 4
19701 126 - 969 €2 G
19701 | 26 | 9%°¢ | €2 |
] W g ) [ae o ) [ae e ) [ae o
[ T i [ (R
01 81¢ 0V 16 L 2609 0V L1 969 €23 21651 0L g1 018le | 0r8I¢ 18
01 81€ U3 €LY 2609 0v L1 969 €23 21651 0L Gk 0181 | 0178I¢ STh-1
(N[
00T 50°0 S1°0 0 0 10°0 61°0 - - 10°0 01°0 20°0 50°0 81°0 050 520 0 0
00T €10 510 0 0 VS0 61°0 - - 620 010 K0 50°0 €01 050 [ 0 S
00T 09°0 S1°0 0 0 0 61°0 - - 0V 0 01°0 020 50°0 007 050 [ 0 €
00T - - 0 0 0 81°0 €1°0 10°0 - - - - 091 050 T 0 €
00T - - 0 0 T 81°0 €20 10°0 - - - - 062 050 [ 0 8
00T - - T 0 T 81°0 620 10°0 - - - - 09°€ 050 [ 0
00T - - 0 0 0 81°0 61°0 10°0 - - - - 2K 050 T 0 €
00T - - 0 0 0 81°0 60 0 10°0 - - - - o011 050 0 0 T
00T - - 0 0 0 81°0 110 10°0 - - - - 0% 050 T 0 L
00T - - [ 0 € 81°0 690 10°0 - - - - 09°8 050 9 0 13
00T - - T 0 [ 81°0 550 10°0 - - - - €8°9 050 S 0 0
00T - - 0 0 T 81°0 820 50°0 - - - - 08°% 050 [ 0 i
00T - - T 0 T 81°0 550 50°0 - - - - I 050 i 0 01
00T - - T 0 T 81°0 250 50°0 - - - - 050 € 0 01
00T - - 0 0 0 81°0 520 50°0 - - - - 050 T 0 0
00T - - T 0 [ 61°0 €01 10°0 - - - - 050 S 0 60
00T - - € 0 S 61°0 €61 10°0 - - - - 050 i 0V 0 £
00T - - T 0 [ 61°0 00T 10°0 - - - - 050 S 0V 0 €
00T - - 0 0 T 61°0 6€ 0 10°0 - - - - 050 [ 0V 0 L
00T - - T 0 [ 61°0 SL°0 10°0 - - - - 050 i 0V 0 €l
00T - - ST 0 [ 61°0 80 10°0 - - - - 050 i 0V 0 01
00T - - 697 0 i 61°0 18T 10°0 - - - - 050 8 0V 0 Ve
00T - - 88°1 0 € 61°0 021 10°0 - - - - 050 9 86°0 0
00T - - 82°0 0 0 020 020 80°0 - - - - 050 T 0 S
00T - - 521 0 [ 020 16°0 80°0 - - - - 050 i [0 L
00T - - T 0 € 020 021 80°0 - - - - 050 9 0 il
00T - - 0 0 T 020 09°0 80°0 - - - - 050 € 0 [
00T - - 0 0 0 020 81°0 80°0 - - - - 050 0 0 [
00T 10°0 [ 0 T 12°0 - - €21 K0 W0 50°0 050 9 1270 ST 9°dl
00T 10°0 9 0 9 12°0 - - 007 K0 €01 50°0 050 03 1270 i) T°0N
00T 10°0 i €20 i 020 991 80°0 - - - - 050 90 21 850 000 ER
SOV 52-1-1
T [CI] i [CI] i [CI] i [CI] i [CI] i [CI] i [CI] i [CI] i [CI] @ @
£— LA &5 €41 i 3 ST M TR G BTk HH WGz | HH i

AE PR G A




B TR

FIFHX 1-4TX




HERT = HE
& W O 1-1-2 5 3# 5 B
RHE AL =V (VU-RR)
K5 $ 200 L=5. Om 96. 70 96.70 | m
B AL =V (VU-RR)
e ¢ 150 L=5. Om 124. 30 124.30 | m
RHE AL =V (VU-RR)
K5 $ 100 L=5. Om 31.80 31.80 | m
B AL =V (VU-RR)
e $ 75 L=5. Om 65. 30 65.30 | m
EEREL R A
k=g $ 200X 90° 1 1 A
EEREL R A
i 150X 90° - - M
EEREL R A
i 675X 90° - - A
EEREL R A
i 300X 45° - - M
OB R A
i 250X 45° - - M
EEREL R A
i 200X 45° - - M
OB R A
i 150X 45° - - M
EEREL R A
Hh ¢ 75X 45° 4 4| 1A
EEREL R A
k=g $200X22° 1/2 2 2 | fA
EEREL R A
k=g $150X22° 1/2 - |
EEREL R A
k=g 6 T5X22° 1/2 - - @
EEREL R A
k=g $200X11° 1/4 - |
EEREL R A
k=g 6 150X 11° 1/4 - |
EEREL R
k=g 6 T5X11° 1/4 4 4 | fA
EEREL R
Hh $200X5° 5/8 - - m
EEREL R
(=5 $ 150X5° 5/8 - -
EEREL R
(=5 $100X5° 5/8 - - @
EEREL R
Hh ¢ 75X5° 5/8 - -
PR TS
5% $ 200 X 200 1 1| &
PR TS
5% $ 200X 150 - -
RN TS
5% $ 200X 100 - -
RN TS
5% $ 200X 75 2 2 | fA
PR TS
5% $ 150X 150 - -
PR TS
5% $ 150X 100 - -
PR TS
5% $ 150X 75 4 4 | fA
PR TS
5% $ 100X 100 - -
PR TS
5% $ 100X 75 2 2 | fA
PR TS
5% $ 75X 75 1 1| &
FEERELNRL TS
Fres ¢ 200X 150 1 1 A
FEERELNRL TS
Fres ¢ 150 X 100 1 1 A
FEERELNRL IS
Fes $ 100X 75 1 1 A




T T T - - - - - T - - 0€ "S9 08 'T¢ 0L 96 - - 01 "8T¢ HE
- - - - - - T - - - - - - SL
[ - - - - - 13 - - - - - - 00T
- T - - - - iz - - - - - - 05T
- - i - - - 4 - - i - - 002
- - - - - - - - - - - - - 052
00€ A/
¢e0 - - - - L [0L70 44
@87 - - - - GL [ 00°g ST dl
00 - - - - 6L [ o00°¢ P1°dl
[ - - - - L | ov'e 08 "L9+€ 'ON
08°¢ - - - - GL | 0z°8 €1 dl
0% "L - - - - SL | 029 21dl
N7 - - - - 6L |ore 00 ‘05+€ ON
a4 - - - - L [ ogT 11 °dL
0z ¥ - - - - GL o1 0T "dT
0% L1 - - - - N 6°dl
69 €l - - - - L [ 000 02 ‘TT+€ 0N
1 - 09°S - - - 00T | 02°TT 0% 'TT+€ 'ON
- 0601 - - - 00T | 09 0T € ON
- 0€ 01 - - - 00T | 00°0T 0V '68+2 'ON
- 00°S - - - 00T | 00°0 0% '6.+2 'ON
1 - - - - - 0ST | 0¥ 63 0V '6.+2 'ON
- - - - - 0ST | 093 00 ‘05+2 "ON
- - - - - 0ST | o1°¢ 8dl
- - - - - 0ST | 06°L 0€ '16+2 0N
- - - - - 0ST | O €T 0V "€1+2 'ON
- - - - - 0ST | 0L°0T 2 ON
- - - - - 0ST | 02 7€ 0€ "68+T 'ON
- - - - - 0ST | 00°0 0T "GG+T "ON
1 - - L4 - - 00z | 0T°S 0T "GS+T ON
- - GeII - - 00Z | 09 LT 00 "0S+T "ON
- - G0 ST - - 00Z | 0S 2T 0V '2€+T 0N
- - vl - - 00z | OV 2 06 ‘61+T 'ON
- - 02 ¢ - - 00Z | 002 Ldl
- - GL'8 - - 00Z | 0G°ST 9°dl
- - 9582 - - 00z | 09°T¥ 1°0N
1 - - 08702 - - 00z | 00°0 G dl
THEN
1 - - - - - 00z | 00°0 ¥dl
SNCHAR A HT-1-1
sLe 00T @ 08T ¢ 002 ¢ 052 ¢ 00€ ¢ 00T @ 08T ¢ 002 ¢ 052 ¢ 00€ ¢ 06 SL9 00T ¢ 002 ¢ 052 ¢ 00€ ¢ (), ()T
9 5 o8 o fig
Yl £ SeE Ll e X wo "="1(NA) F 5!




fekie THEHE

FEIFHX 1-4TX



PN

770 7o AR
ma

¥ 1 61 (4 — (&~ =35 Witk
NE

¢ 0 230 (Quu/NST) | — (i 4~ = FFF
ma

11°0 1T°0 (Quu/N8T) — (1 4 <=
ma

I _ _ TT (00L X 0S¥ X 0G) XOTTA N &
)

S - - g GLP 0621/ TS]
)

9 - - 9 059 06z S]
)

9 _ — 9 (0S¢ XGLO) N < 4 ANEHSL
)

00 'S - - 00°S (dA) §L O Far—=2 VB
w

00 6 006 (dA) 08 ¢ FA—=2 TV Br
w

G . - g VoSN S (E E
H

9 . - 9 VOSHN @ E
H
M_wd\ |_vm /_Wv %wm‘mﬂhmlﬁl v@& _W
N XILh-1 BT

oW EFE % TN




KRR T % & i A

oo (4 ™ -1 E2 o &
[I-1-25 3 7K ]

[ B kK504 OKBEEEEL D) 6 &
T i b e =— /L% ¢ 50 (VP) (fa7k#e THEER X ) 9.00 M
TSEEN Y & b (675X ¢ 50) (R ke THEER & 0) 6
TS LK ¢ 50X 90° (e Ak THEERI X 1) 6 fA
KK AEBOX (450 X 450 X 700) (fa7Kk#e THEERI L 0 ) 6
=7 J— b (18N/mm2) (faKie THEERM L 0 ) 0.06 m
FffE=a 27 ) — b (18N/mm2) (fa Kk THEERM K 0 ) 0.12 m
W (a7 U — ) (R 7k #e THEER L ) 0.84 m’
TR A (R 7Kk #e THEER X D) 0.24 m
[ B k12804 OKBEEEEL D) 5 2%
B AL e =— 1% ¢ T5(VP) (ka/kte THEER X 0) 5.00
TSV ¢ 75X 90° (e Ak THEERI X 1) 5 fA
K /K AEBOX (450 X 450 X 700) (fa7Kk#e THERERI L 0 ) 5
27 J— b (18N/mm2) (faKie THEERM K ) 0.05 m
FffE=a 27 ) — bk (18N/mm2) (faKie THEERM K 0 ) 0.10 m
W (a7 U — ) (R 7k #e THEER L D) 0.70 m’
SRR (R 7k He THEER L ) 0.20 m




fakiR B TEEFHE

FIFHX 1-4TX



+T L

BB |4 i = ¥ B
[1-1-253CH K]
PR T (GEHE) CEARBERTREE L) 5.60 m’
R IE CEEIBEBERI R E L D) 7.05 m
W FEHEL WHE + shavn 1y CE¥IBERERE 2= L v) - m
b HepifE2 WHE+ Wda/N Iy CEARBERTRE L) - m
MR it Wda/N Iy CEARBERTRE L) 0.56 m’
2 i+ TRV CEA R R E L D) 4,90 m’
HER3 AT [R®-7 v AN R CEERE A E L Y) - m
R4 it WwEin-7 AN R CEREREGETRE L V) 0.13 m’
R #R7 —7 |B=150mm CEEIEMEGHRE L D) 14.10 m




TR ES

[a=FG

96 ¢ Vs g 950 - - )
9€°7 | VST 960 | Z-1-1
W cci@s] W Jeovcc@m w fovwi@s]  m Jacc@ @ e vaci@g] ci~ooe @
S [a=FG T3 ST G TR G T

~

c-1-1

5 B W@\ vAe@M F) g6 AR SL~00€ @
[ CT T G A
[ | dTy-1
] e g
S
9¢ 'C ¥S°C 9¢ '0 - - 28
9€°7 | I 9670 | HTh-1
W leoce@s] W o W Joocc@M]  w [ vsel@] W o vAciEzg] s2~00€ @
2t ek [ CT T G A
= = - = E
A
- [ - [ - [ XLp-1
) () L-ul ) i@ w fovwei@s] w0 cc@ H e vsci@g] ci~o00e @
e [ CWT M T G A
0l '¥I €170 9¢ ¢ ¥S e 9¢ 0 - - S0 L 099 0l '¥I HE
0T "¥1 €170 9¢ 'C ¥S ¢ 9¢ '0 - - S0 L 09 'g (A XTe-1-¥
()
0T "¥1 €170 9¢ 'C ¥S°C 9¢ '0 - - S0 L 09 'g 0T '¥1 EENG
0€ T 00T - - €20 81°0 €20 81 °0 S0 °0 ¥0 °0 - - - - S9°0 0S "0 250 0% "0 0€ T 02 "9T+¥ "ON €
0€ T 00T - - 12°0 910 €20 81 °0 S0 °0 ¥0 °0 - - - - S9°0 0S "0 6% "0 8¢ 0 0€ T 02 "TT+€ 'ON L-C
08T 00T - - ¥2 0 910 L1270 81 °0 90 "0 ¥0 °0 - - - - SL°0 0S "0 L1870 8¢ 0 05T 0% '68+2 "ON 9-C
08T 00T - - ¥2 0 910 L1270 81 °0 90 "0 ¥0 °0 - - - - SL°0 0S "0 L1870 8¢ 0 05T 0% "6.+2 "ON 2-9-C
02T 00T - - 61 °0 910 220 81 °0 S0 °0 ¥0 °0 - - - - 09 "0 0S "0 9% "0 8¢ 0 02T 0€ "12+2 'ON 1-6-C
02T 00T - - 61 °0 910 [4 81 °0 S0 °0 ¥0 °0 - - - - 09 "0 0S "0 9% "0 8¢ 0 02T 0% "€1+2 'ON 1-¥-¢
02T 00T - - 61 °0 910 [4 81°0 S0 °0 ¥0 °0 - - - - 09 "0 0S "0 9% "0 8¢ 0 02T 0€ "'68+1 "ON =4
01T 00T - - 81°0 910 02 '0 81°0 ¥0 °0 ¥0 °0 - - - - S0 0S "0 v 0 8¢ 0 01T 0T "G5+1 "ON £€-C
02T 00T - - 61 °0 910 220 81 °0 S0 °0 ¥0 °0 - - - - 09 "0 0S "0 9% "0 8¢ 0 02T 0% "2€+1 "ON -G
0€ T 00T - - 12°0 910 €20 81 °0 S0 °0 ¥0 °0 - - - - S9°0 0S "0 6% "0 8¢ 0 0€ T 06 '61+1 "ON 1-2
0€ T 00T €170 010 62 °0 220 €20 81 °0 S0 °0 ¥0 °0 - - - - S9°0 0S "0 0L°0 ¥S°0 0€ T 0% "85+0 "ON 1
SV
% [T " [T % % [T % [T % % [T W o
N u N (=R
£ L VM 24 e TR THDF e wgs | v

AP Gk




KT bEg B F A e

mooR |4 B = ¥ B
[T-1-25 M HAKE]

AL =-V& (VP) |6 75 L=5. 0n (EMEHF L) 14.10 ™
e TSR K | ¢ 75x45° CEMEEFE L) - f&
y ) 6 75X 90° (kSRR L D) -
RE TSEEV ) | ¢ 300 X 250 (EMEHFELY) - fE
¢ 250X 200 (MR ELY) - A
¢ 200X 150 (EMEHELY) p fE
¢ 150X 100 (EMEHELY) 1 fE
(EMEIFELY) 1 1A

¢ 100X 75




T T T = = = = 0T ITeS)
T T T - - - - 0T ATh-1
T T T = = = = 0T o a1

06T 06T |00 0.0 | 9970 oFT 0P | LAk | TE | 0591+ 0N g

06T 06T | 1970 190 | 6670 0LTOLT | LLkg | TE |05 THEON | L%

05T 0cT |90 190 | 6670 0LTOLT | LLkg | TE | ovest N | 9%

0eT 0cT |90 190 | 6670 0T OLT | LLk& | TE | 0v6LE N | -6

05T 02T | 1970 190 | 6670 0T OLT | LAk | TE | 08Te 0N | 1-6C

05T 02T |90 190 | 6670 0UT OLT | LAkg | TE | OVEHGON | 198

05T 02T | 1970 190 | 6670 0LTOLT | LAk | TE | 0eesrlON | s

0Tt 0T | 1970 190 | 6670 0LTOLT | LAkg | TE O |orse TN | e

05T 02T | 1970 190 | 6670 0LTOLT | LLkg | TE | oreerloN | e

06T 0ET | 1970 190 | 6670 0LTOLT | LAkg | TE |06+ 0N | 1%

1 1 1 06T 0eT | 1870 180 | 6670 06T 06T | LAk& | T¥E | 0850 0N 1
N e

] ] ] ] ] ] ] W | wer | @n | e | e | @0 | ® ® @ | @yE | el | Wed | @

A

GLX 00T 001 X051 ¢ | 081X 002 ¢ 002X 052 ¢ | 05X 00€ ¢ oo g i =
06 9 o . . . . 5 | T emT  mT 2098 .. Eme oo Z i ! o

(SR Y dAvsL | A Avst | Ban | SER VER SER ER L ER | o ymm Jdgs | ome | FET ) mym | wme o

FHEH N




KERLEER

FIFHX 1-4TX



KERGL H = i B E
Bl | 4 PR B =X H &
[1-1-253CH KR ]
PR ERAE R CEHBRBER R E L D) 6.97 m’
FEmH R CEHBRBER R E L D) 5.22 m’
HILEEL e+ IRE2 N I) CEHRRBEREE L D) 0.23 m’
THHLpE2 e+ IRE2 N I) CEHBRBEREE L D) 0.68 m’
HE L Wie A & IRE2 N I) CEHBRBEREE L D) 0.52 m’
HLEE2 At BN J) CEHIEEEEL D) 2.53 m’
B3 i 1 WBn-7 AN R CEYRBEGHRELY) 2.16 m’
HpE4 i 1 WBn-7 AN CRYRBEGIRELY) 0.73 m’
#F# 7 — 7 |B=150mm CELIRRRERT AR E L V) 10.45 m
BB A VERR ¢ 200 (K 3FE [E4SL=5.00m N
I B4E KW 3ff E (U L=1.00m, ZY)HL=3.00m, FE%L=1.00m) N
5 B A VERBE G | 6 200 o B
277y (H2(%%) |187.3kg/A X 1m/5m/ K 37 kg
% KIE ¢ 200 90° s (148 57. lke/{H) 4 A
FRTE (K 0 200 fi
W kL ==V (VU-RR) | ¢ 200 L=5. Om 1.03+1.43+2. 93 5.39 m
BEERBLANHL 1 Yot $ 200 1 L X gk o M
eI dh 6 200X 5° 5/8 1 1
P R | ¢ 200X ¢ 25 ]
DUHZERIT | 025 1 &
a7 ) — |
27 Y — BT | EREEY [18-8-40  0.56X0.56X 1. 13X 2 0.70 1.50 m’
0.56X0.56X0.97X2 0. 60
0. 56X 0. 56X (1.60-0. 56 X2) X2 0. 30
—(0. 22%0. 22% 1t X 1/4) %2. 58 -0. 10
0. 70+0. 60+0. 30-0. 10 1. 50
HLarv sy — b [EFHEEY |18-8-40  0.76X0.05X (1. 17+0. 57) 0.10 0.20 m*
0.76X0. 05X (0. 41+1. 33) 0. 10
IR T — TR [EREEY (0. 56X 0. 56— (0. 22%0. 22% X 1/4) } X4 1.10 6.90 m”
) {0(0.97+1. 13) X 0. 56]1+[ (1. 60-0. 56 X 2) X 0. 56]} X4 5.80
BL=ar 0.76X (1. 17+0. 57) 1. 30 2.60 m”
Z 0.76 % (0. 41+1. 33) 1. 30




S ¢L°0 9¢ (S 25°0 89 0 [ 23" 16" LV 91 LV 12E

i ¢L0 9¢ " ge " 2570 89°0 €20 2" 16" LV 91 A BB

()
LV 00°T 90 0 700 7€ °0 €20 62 0 020 210 800 - - - - ¢L0 0570 G870 8670 LV £6°C G dI
81°¢C 00°T 200 0T "0 2570 ¥2 0 97 0 12°0 - - T¢°0 ¥1°0 11°0 G070 60T 0570 89°T LL70 81°¢C erT ¥ '69+0 'ON
281 00°T LT°0 11°0 70 L1270 9¢ 0 ¥2°0 - - ¥2 0 910 800 G070 9L°0 0570 921 €870 281 09°T TO "79+0 "ON
08°0 00°T 60 0 11°0 200 L1270 61°0 ¥2 0 - - eT 0 910 700 G070 [0)70] 0570 99°0 €870 08°0 00 "0 TV "29+0 "ON
12°1T 17 ¢ TV "29+0 "ON
20°¢ £9°¢ 00 "0S+0 "ON
28°1 00 "0 78 "G¥+0 'ON
oL 00°T 61 °0 11°0 i 920 (U €20 ST°0 60 0 - - - - 98 " 0570 02T 0L°0 oL vre 0€ "97+0 "'ON
iz 00°T - - ve ST°0 16" €20 020 60 0 - - - - 4 0570 L0°T 870 i e0°T €6 "2F+0 "'ON
28" 00°T - - 80 " ST°0 [ €20 S0 °0 60 0 - - - - 92 " 0570 G20 870 2570 00 0 ¥ dl
PNAT |

% [EE] R [EXE] 0 [EE] % [EXE] R [EXE] R [EXE] R [EE] u [EE] R [EXE] “

F VT it AT 4 TG e R 57 MM Wil | Wi 5

ERTAEE T n




T T N X% 5t & &
4-1-2T X
BT EBEI FHAKBIHEKEI & =
gyt 1,030 155 1,185
Bt 1,030 174 141 1,344 159
BA=E 9 9
TOARET 159 m3

AT EMEZRBE=100THE




R THEFRE

FIFHX 1-4TX



(2/2)

ik & T BEHEE (3E)
oAl A A X ¥ B OHAL Of§ OE
(L HIE)
HEHE IH
FEHE - FL t=0. 15m 200.0  200.0 m2
HEHAE IH
it 200.0  200.0 m2
N PRIE - E EREIE S WAL 2. 67m2
i@ R Wi 6. 88m2
(2. 67+6. 88) /2+JEFE51. 0 243.5 244 m3
A GEE &) 270. 6 270 m3
(&avy)-h)
PR 1. 87 (4. 0+1. 0) %2 18.7 18.7 m3
HR 0. 66% (4. 0+1. 0) %2 6.6 6.6 m3
¥ Lavy)-h 18N/mm2  |1.65%0. 14, 0%2 1.3 1.3 m3
A A ((0. 1%4. 0) +(0. 1%1. 65) ) %22 2.3 2.3 m2
/) =} 18N/mm2 (((0. 545+0. 8)*0. 85/2) + (1. 45%0. 65) ) *4. 0%2 12.1 12.1] m3
] b 7 ((0. 887+0. 85) + (0. 65+0. 65) ) 4. 0%2 24.3 30.4 m2
(((0. 545+0. 8)*0. 85/2) + (1. 45%0. 65) ) *2%2 6.1
THte, oy | HEfHas))-) 13.4  m3
(R H)
TR 1000%2000  B4. 00m X L8. 00m 32.0  32.0 m2 CHEHEISOH
MT00m2LL F 424kg/Fe X 164 6.784  6.784 ton
B2 EME 8.00%3 24. 00 24.0 m
H—35H0§£ﬂ<350 135kg/m X 24.0m 3.240  3.240 ton
i3z Hoo%tz%ﬁﬂxw& 3.35%X2 6.70 6.70 m
- 43.8kg/m X 6.70m 0.293  0.293 ton
(jfgf?;) [—ZOZ%gﬁogx%ﬂxlsj 1. 4%2%3 8. 40 8.40 m
30. 3kg/m X 8.40m 0.255  0.255 ton
sz SRR
GF7FisfAs) | PLO-350X 350 6| » Ft
70. 6kg/m2 X 0.12m2 X 64 0.051  0.051 ton
e %] 90X 90 16.0, m
X LRSI EEEE 3.839 | ton




i TEEHE

FIFHX 1-4TX



HET (%I HEHEE
i 4 W ) 2y ¥ BB o=
€7V 27)
LN PRI AS
(TA7 70 M %%) t=den i & = 189.0 KRB E D Y
A A TR R As RS i
(7277 Mahi ) t=4em Xk = 18. 50 YRR IED Y
s 207.5 m
[EiE] S AE B o S it i AT
‘ PRI AS )
747 7 M t=4cm P = 67.80| 67.80 m? REEEEHD
) RC-40
R % t=5em
B=4. Om*114. 9m
2B HHLEY | (No. 0+41. 5~N0. 3+6. 4) = 459.60
B=4. Om*80. 9m S
SEAHEEE | (No. 0~No. 1431, 6, ;BT K EEHEFER) = 323.60 K eaeo o e
s 783.20 m®
R IE TA77 v M2 T £ P 275.30 m?




i L (R, faRke T, Pk D) &R F
(] EA D B 2V /N TUANE R
[ #]
REHME #5541 X & D 140. 0] m2
# 1= 20cm 28.0 m3
A iibﬁz;g;il 28.0 m3
U TRt E U-150 2.4 m  L=600/ffl, 24ke/fF
ek O BAZE 0. 2%0. 1%t0. 2 1.0| fipr
WEE IR T \F5T-4 71.0] m
AT H=0. 3m 1. 0| AT
g 1A Egss-4 LY 140. 0
i e EH5T-4 224m2-BEREFERR (T1. 0%0. 9) m2 160.0  160.0
4% 300.0 m2
[#a/Kkke 1]
GokkiE s 10| BT s
[HEKi% ]
(fEZE+T)
PRYE D 3. 4 PR IEA. O 13.60, m3
R 1. 93 FE R 4. 0 7.60 m3
SR IE 2. 3K AL 8. 0 18.40, m2
WO Ehi%E 3. 48 B A HEES. O 10. 20 m2
(PR A
HEE $ 1100 6.0 6.0 m SESSxHE
BGTIA T 3% L=1.0m 2.0 AT
(Gam)
Botl | iomsotses | HE LY
4. 65m2%364% 167.40  167.40 m2
802kg/H*364/1000 28.87  28.87 ton
AR —h PRiE - R 167.40 m2




